EARAZROREIERT — 2 N—XBISY —F 201757828 (H) 1EI&EE6H

IR H+>%3mtEt 500ARAT 4 [HETE] T2 ‘ ] 2 ‘ [(BEErmE] — |2 (£) 20000 &
[A&4] 1 7% :7,500,000 @ 23 :3,000,000 " 33 :1,900,000 3 43 :1,100,000 @ 5 & :750,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. B4 | B 1:58.7 8-8-6-6 |35.8| 93.3 | 3 482 | FREEE (FXR)
1(7|9|FVT¥RT=TR 55.0 (=) 6 | #R) G1L—>2
R:T—0T4—X B:AYUIL b Fv—L BHT7— L
PR T B 4 | C. x—J 1:58.8 6-5-5-4 | 36.1| 92.4 | 2 434 | ARHEN (FR)
2 g| 771 >7L7 4 55.0 (3/4) 4y | EFEAF=LF 42T 2 ()
R:F4—TA42IN7 b BESI DAL HET77—L
i = it 5 | FIRER 1:59.0 2-2-3-3 [36.7| 90.8 | 5 492 | EEEESRS ()
38|11 ®FTNTZT— 55.0 (1" 1/4) @) | ) EvILyRTr—L
LY LTAN=t BiT7—R71H—FK JO—-U—7p—L
. . 3 | BoEdr 1:59.0 1-1-1-1 | 37.0| 91.1 | 1 504 | A+EES (BR)
4011 |FA/TRTE % 52,0 (NF) (#12) | AR
L:xA1=Gy7—X BIAY31— BREM#HFB L2 L/ 77— L4
P - 4 5 | tAR— 1:59.0 9-10-10-10 [ 35.7 | 90.2 | 12 | 456 |ATIENE (i)
58|12 I—Y ¥ AA—N 55.0 ) ) | BEER
LT TRy b Bty R7AE-F2R FRBE%S
S 3 it 3 | BEREX 1:59.1 9-9-9-7 359 89.3 | 4 470 | BEEE— (EF)
6l5|6|*T>avINN 52.0 (3/4) (o) |
L84 TAT v — B:T7rCA-X =be ]
— 4 3 | BOAIEM 1:59.3 11-12-12-10| 35.8 | 87.3 | 10 440 | REB (EH)
70710 Y=V~ 52.0 (11/4) (+a) | LFE
:g8— MR BV XN Elralye: )
g R~ A 4 5 | AIIEFE 2:00.1 4-4-2-2 | 38.0| 81.5 | 8 468 | HEEE (EH)
8|55 ®Ly KNUZ4 [B] 55.0 ®) gy | ) ERE-ZL-v>y
L:NnN=v754 B:7A-Uty b HBITr—L
LR — s 4 | EFEERH 2:00.4 6-56-7 |37.6| 78.2 | 6 464 | AREBEZ (ER)
9 7|\LYy FALVTAT 55.0 (1 3/4) © |8 mERA-ZL-2g
R:F4=T1>n7 b~ BEY2TNL 3y HE77—»4L
. . A FE : 56— REEAL (EH
10 2 2T T I—JUR 4 5 e 2.(081).7 5-5-6-7 |38.9| 68.4 | 7 (1411(2)) 2 (E#)
L ZRFAd—I R B2y FIx—d—IK BT 7 —L4
B 5 | TS 2:08.0 11-11-10-12| 44.6 | 34.2 | 11 512 | /E—B (EH)
1 : REEE 5.0 (51%) w) | FEBS
LiNn—ErTr— B:JTUHR-> J—HrTr—L
N SSaysL A WREB — 34— — — HNEEFR (3E7#)
N 4| ELY DY 6 Tl (shik) o ’ ;‘;6) I E
oy EddyER B:iFAZAAT 1 — (AYiorie]
@ 71 L
) 48.1-36.7
NA> &4 L | 12.5-10.6-11.6-11.8-12.1-12.0-11.4-11.9-12.2-12.6
® I —F—EBIERL
1a—7— |1,11,4,5,2(7,8)9-(6,12) (3,10)
2= = 1-11,4,5(2,7,8)9-6,12,3,10
Gol=5r= 1,5,11,4,8(2,7,9)6(3,12)10
40—+ — 1,5,11(4,8)9(2,7,6) (10,12)-3
[ N3
BB 9 620M 714K 8-9 340M e E 6-7 800M JEHE 8-9-11 3,240/
8 B 9 170 9-11 730M B E 8-9 1,060 B 9-8-11 17,090M
8 150 8-11 620 B H 9-8 2,460
1 220M

ABICOVWTRDTEEERROODE. TR LIV,




